Ne ApTUKYN HanmeHoBaHue Kon
1 PyKoATKM ynpasneHua 1
2 |916-806-002 Tara 1
3 TpaHcmuceua 1
8 Wrnot 1
9 KpoHwTenH 1
10 Wrnot 3
11 |916-806-011 Tara 1
12 Maiika M10 1
13 [916-806-013 bont M8x25 1
14 Lanba 1
15 [916-806-015 PemeHb 1
16 LWkuns 1
17 LLinoHKa 1
18 bont M8x16 4
19 |916-806-019 Ban 1
20 |90-0414 MNogwunnHuk 6203 2
21 Kopnyc 1
22 |916-806-022 TpocuK 1
23 |916-806-023 CoeguHutens 1
25 [916-806-025 Kopnyc nogwmnHmka 1
26 |916-806-026 Xpanosuk 1
27 bont M8x25 2
28 BTynka 2
29 |916-806-029 CoeguHutens 1
30 [916-806-030 Ban 1
31 bont M8x6 1
32 |916-806-032 MpyXunHa 2
33 |916-806-033 KoKyx pemHs 1
36 |798-508-051 OrpaHuuunTeNb peMHA 1
Moaenb
MawuHa nogameTtasibHaA BS 6560 Combo

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 1




Ne ApTUKYN HanmeHoBaHue Kon
1 MNaHenb 1
2 Bont M8x40 4
3 Maka M8 6
4 PyyKka npaBasn 1
5 BuHT 2
6 XomyT 2
7 [916-806-043 TpocuK 2
8 Wrnot 3
9 Pblyar npaBbin 1
10 Marika M6 3
11 PykoATka 2
12 Pbiuar nesbiv 1
13 BuHT M5x15 2
14 Pbluar 1
15 bont 1
16 KpoHwTenH 1
17 LLanba 1
18 Maiika M6 1
19 |796-634-029 PykoATKa 2
20 Wrnot 1
21 MpyXKnHa 2
22 |916-806-058 Pbiuar 2
23 bont M8x35 2
24 Tara 1
25 Konbuo ctonopHoe 1
26 Pyuka neBas 1
27 3aXknum 1
Moaenb
MawuHa nogameTtasibHaA BS 6560 Combo
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 2




o
—_

@ @@@
IT}_

Yl A

Ne ApTUKYN HanmeHoBaHue Kon
1 |916-806-064 Koneco 2
2 Malika M6 1
3 KpoHwTenH 1
4 Bont M6x12 4
5 Tpocuk 1
6 Ponuk 1
7 BTynka 1
8 Bont M6x20 1
9 Kopnyc 1
10 BMHT M8x16 8
11 OcHoBaHue 1
12 laka M8 4
13 |916-813-076 [Buratennb 1
14 PemeHb 3LXP825 1
15 |916-806-078 LWknBe 1
16 |916-806-079 LLinoHKka 1
17 LWaliba 3
18 bont M8x30 1
19 OrpaHuuunTensb pemHs 1
20 bont M8x25 2
21 bont M8x40 4
22 LWarba 1
23 MnactnHa 1
24 bont M6x20 2
25 HaKoHe4YHMK 1
26 Bont M6x16 1
27 BTynka 1
28 BTynka 3
29 Tara 1
30 Kopnyc nogwmnHumka 2
31 Maiika M8 5
Moaenb
MawwuHa nogameTtasibHaA BS 6560 Combo

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 3




o
—_

@ @@@
IT}_

Yl A

Ne ApTUKYN HanmeHoBaHue Kon
32 NogwunnHmk 6304 2
33 [916-806-096 Ban 1
34 Wrnot 1
35 LLnoHKa 1
36 LLlectepHa 1
37 BTynka 1
38 Bont M6x16 14
39 Kopnyc noawnnHmkKa 2
40 Konbuo ctonopHoe 1
41 Ban 1
42 Konbuo ctonopHoe 1
43 MoaWwunHUK B Kopnyce 1
44 [ep»Katenb AUCKa 1
45 JNCK GPUKLMOHHBIN 1
46 LecTepHa 1
47 Ponuk 1
48 bont M8x30 2
49 Ponuk 1
50 HaKoHe4YHUK 1
51 LWaliba 1
52 MnactnHa 1
53 KpoHwTenH 1
54 Pbluar 1
55 MpyXKnHa 1
56 MpyXunHa 1
57 LLKkne 1
58 Kopnyc noawmnnHuKa 2
59 [90-0430 MoawwnnHmk 6002 2
60 bont M8x16 2
61 Ban 1
62 BTynka 2

MawuHa nogmeTtanbHana

Moaenb

BS 6560 Combo

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 4




Ne ApTUKYN HanmeHoBaHue Kon
63 WrnoT 1
64 KpoHwTenH 1
65 MpyxunHa 1
66 KpoHwTenH 1
67 bont M6x16 4
68 Maiika M12 1
69 Ban 2
70 Kpbiwka 1
72 |796-665-026 Bont M8x45 2
73 |916-806-136 BTynka 2
74 MNnactnHa 1
75 Bbont M8x20 2
Moaenb
MawuHa nogameTtasibHaA BS 6560 Combo
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 5




Ne ApTUKYN HanmeHoBaHue Kon
1 BMHT M8x16 1
2 [916-806-140 Xpanosuk 1
3 OcHoBaHue 1
4 MnactnHa 2
5 1916-806-144 BuHT M6%x12 4
6 |[916-806-145 Ban 1
7 1916-806-146 WapHup 1
8 BuHT 2
9 larka M10 2
10 LWaliba 2
11 KpoHwTenH 1
12 BMHT M5x12 2
13 [916-806-151 LepxKatenb 1
14 Maiika M8 6
15 Bont M8x25 2
16 BuHT 2
17 Ban 2
18 [916-806-156 Koneco 2
19 bont M8x20 8
20 Kopnyc 1
21 LWaliba 4
22 |916-806-160 dnaHey, 2
23 bont M8x35 4
24 (916-806-162 Ban 2
25 BuHT M5x10 4
26 YNNoTHeHMe 2
27 (916-806-165 CanbHUK 22x30x7 2
28 Bbont M6x20 10
29 |916-806-167 Kopnyc pegykTopa 1
30 MoawnnHuk 2
31 [916-806-169 LWectepHa 1
Moaenb
MawwuHa nogameTtasibHaA BS 6560 Combo

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 6




Ne ApTUKYN HanmeHoBaHue Kon
32 |916-806-170 MoawnnHuk 2
33 |916-806-171 MpoKknaakKa 1
34 bont M10x15 1
35 |916-806-173 LnoHKa 1
36 [916-806-174 Ban 1
37 [916-806-175 LWaiba 2
38 |916-806-176 Konbuo 16
39 [917-032 LleTka Habop 20 wTt 1
40 Bont M8x25 1
41 KpoHLwTenH 2
42 Koskyx 1
43 Marika M10 2
44 bont M8x16 2
45 WrnoT 2
46 Maiika M6 2
47 Wryuep 1
48 1916-806-185 Kopnyc pegykTopa 1
49 MnactuHa 1
50 |916-806-187 Ban uepBAYHbIA 1
51 |BE-51104 MoawwnnHuk 51104 1
52 KonbLo ctonopHoe 1
53 CanbHuK 20x32x7 2
54 bont M8x50 2
55 LWanba 2
56 MogwwnnHmk 6003 1
57 LWarba 2
58 Maka M8 1
59 CanbHUK 17x30x7 1
60 bont M6x25 2
Moaenb
MawuHa nogameTtasibHaA BS 6560 Combo
Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA Page 7




[
g o X
o
= 8 |wlE
¢| 9 |g|g
S| 8 (2|
Msrn
o |T|<
w |>|8
m |©o
@ &
© o <<
o I
o © M D
I x T S x (v
] s z © J| = ©
s w | S| x Q Elx
s _On o o M_H H
© V18| s al |g - ElS| =
I oxJKMHG n|w @ | g Z|o x = o mmm =
00 LIS = — N - x|m N O = ) I c o
XKOOﬂ.HOX X | X _IXFOQn eXKH o ™ yo
| SsS|PF|c|E|® ®| 0| x S|o|s|E e R == o @ © = =
S| o glhls|els SS9 s|3|S ol Q|S| ®s|w|S Ol _|lg|lx|O|9o Q -
O © wig|l = lite) ol Qx| = S| 3|o|x Clgl|lx|z|T| = c
|| S| Xk Elr|3|=| 9= |S|-|x2|E|E|E||=x =| o I S|s|o|l2|E M 7]
I|lchs|2|z|F|o|s5|o|s5|5|S|s|2[ss|o|l3e|ls|9 5| z|s|s|2lels|e o £
S|l o|lg|lV|S|O|0|0|O0| 0| 0O O| 0| ™ | o0l 0| & O S| O = o| O
o <X|C|g|a|c|x|v|x|v|bd|c|T|x|b|E|d|ao|x|bd|cjc|TF|T|a|b|[T|a|T|x|x o) =S
|
= © d%
> S I © | o
m — S O u
9]
s o < 3 .m.m
— o © [SH s}
< < © D
o ] Pl
_ b M [
o N 7}
D ~ g
ol old|~|m|t|n|o|~|o|alo|d|a|n|t|n|o|~N|o|lo|o]|« ‘&
SN N0 IN0D | ||| A || QNN N[N N[N N|N[|m 5

Page 8

DYNAMIC DRIVE EQUIPMENT, USA




Ne ApTUKYN HanmeHoBaHue Kon
32 Konbuo ctonopHoe 2
33 LLIHeK npaBblit 2
34 BTtynka 2
35 LWecTepHa 1
36 BTynka 2
37 Kopnyc peayKktopa 1
38 WTyuep 1
39 BTynka 1
40 |916-806-239 Ban 1
41 Wrnot 1
42 LnoHka 1
43 KonbLo ctonopHoe 1
44 BTynka 1
45 CanbHuK 20x35x7 1
46 LWaliba 2
47 MNnacTuHa KosLwa 1
48 bont M8x20 10
49 Faka M8 4
50 OcHoBaHue 1
51 Kosblpek 1
52 laka 2
53 PeweTKa 1
54 Konnayok 1
55 Oednexktop 1
56 dukcatop 1
57 Mpy*KnHa 1
58 dukcatop 1
59 BuHT ST4.2x16 6
60 Pyuka 1
61 JlonaTKa 1
Moaenb
MawuHa nogameTtasibHaA BS 6560 Combo

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

P

age 9




2
10

ApTUKyn

HaumeHoBaHUue

Kon

Pyuka

BuHT

916-882

OTtBan B cbope

MnactmHa

MnactnHa pesnHoBaA

Bbont M8x16

BuHT ST4.2%x16

bonTt

OO |IN[OD|UV|PR(WIN|-

916-868

KoHTeliHep ana mycopa B cbope

[
o

larka

[y
[y

Koneco

N|lo|Rr|B|B|D|R[R[R[M>

MawuHa nogmeTtanbHana

Moaenb

BS 6560 Combo

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 10




